What's in the box What's in the box Accessories for installing TV

a N~ N N
0 QX4 @XZ ©X4 N x4 | M-B B | M-C p&
‘w@ % \ G, g é g
@ @
M8x20 M6x6 M6x12
M4x14 M5x14
e (D}Y (EDY @~ | M-D 2t IR x4
_
= C : ﬁ\ IS .
@
\. Smm 4mm 2.5mm M6x14 M8x30
_ -G L Cv-l B
o - | .
: 6
e M8x50 SMM
R <8
1! L]
@’
15MM
\_ N AN /

Easy to install Easy to install Easy to install Easy to install
e R N7 N R
1 2 3 4

~
O @ -~
@ I~ ?

Distinguish front
X7 1EHE
FHEZXBT 3
Distinguer devant
Vorderseite unterscheiden
Distinguere davanti
Distinguir frente




Easy to install Easy to install Easy to install Easy to install

5 M-J
15mm
[ V-1 |
0 +
5mm+15mm
Sélectionnez les vis appropriées de M-A a M-G et fixez la partie 2B aux quatre trous de vis
Select appropriate screws from M-A to M-G and install part #2B on the four screw holes on the back sit,ues al'arriere du téléviseur.
e - — of the TV. The back of the TV is flat, and the A1 installation method without gasket can be used; If the Méthode de montage A1 : sans rondelles
. g back is uneven, A2 installation method with washers (M-H to M-J) can be used, and thick washers E Si l'arriére de votre TV est plat, choisissez A1

'@" @ can be superimposed according to the situation. Méthode de montage A2 : avec rondelles (M-H A M-J)

&1/ s _ s Si le dos de votre téléviseur n'est pas plat, choisissez A2, les rondelles peuvent étre

< FEM-AEM-G RS ENIRL, 1T B R EE SIS AL MELT, b, B S E PR ERT ampilées en fonction de (a Situation. P

8| MBEMAIRES; SEAFEIERMNEE (M-HEM-)) AR5 R, ERE R LURERR
ShE, Scegliere le viti appropriate da M-A a M-G e montare la parte 2B sui quattro fori per le viti
sul retro del televisore.

o M-A~M-GH 5B % % U EBA T, /N\—V2BEF LEEED X URICRDAHI TE SV FLE < g"e_tlc’d‘t’ d'(;“‘l’t”tfg.gm ATl s r°”del!'e Al

BEIZEDRIBE. TYIv—%FEHRVEDMIT A EAMZERL KL IV.TLESAEIEFEST = Melt :je rg. e eteVIS.OI’e e. piatto, sdcelgl |e£|e N
B 5088 Ty v — RSO A EAZE R LT S W (Ty S v — I Z A IC LD ERTER etodo di montaggio A2: con rondelle (da M-H a M-J) o
TEEd), Se il retro del televisore non e piatto, scegliere A2, le rondelle possono essere impilate a
seconda della situazione.
Q Wahlen Sie die entsprechenden Schrauben in M-A bis M-G und befestigen Sie Teil 2B an den Escoja los tornillos apropiados en M-A a M-G y monte la parte 2B en los cuatro agujeros
— ap vier Schraubenldchern auf der Riickseite des Fernsehers. para tornillos en la parte trasera del televisor.
Befestigungsart A1: ohne Unterlegscheiben Método de montaje A1: sin arandelas
@ >< Wenn fjle Rickseite Ih.res Fernsehers I.’lach ist, Wé.hlen Sie A1 % Si la parte trasera de su televisor es plana, elija A1

Befestigungsart A2: mit Unterlegscheiben (M-H bis M-J) Método de montaje A2: con arandelas (M-H a M-J)
Wenn die Riickseite Ihres Fernsehers nicht flach ist, wéhlen Sie A2, die Unterlegscheiben Si la parte trasera de su televisor no es plana, elija A2, las arandelas se pueden apilar
kdnnen je nach Situation gestapelt werden

dependiendo de la situacién

Easy to install Easy to install Easy to install Easy to install

g 8]
. 5-6mm 9
Do not tighten the screws g%o
RETEIRL I
RIEEHTLIEETW
Ziehen Sie die Schrauben nicht an — 1 1
Ne pas serrer es vis
Non serrare le viti I ><
No apriete los tornillos




